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Question Number : 1 Question Id : 4509386881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The domain of the real valued function f(x) = log,logslogs(x* —5x + 11) is

f(x) = logylogslogs(x® — 5x + 11) ©F Taa) SLFO D000 T8 (D0

Options:

B2 )
1. %

(—o0. 3)



Question Number : 2 Question Id : 4509386882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

x242x—15
15
2x2+13x+15

The range of the real valued function f () =

: 242x-15 v . i
fl) = —— O TN PO (DN TRVEY, 5
o 2x2+13x+15 = 2
Options :
R-{-5,-3)
~fBi
1. %
1
H—{—a_—}
2
2. %



Question Number : 3 Question Id : 4509386883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
For—="F ~upio i iormis —

— — +——F o (0 DT DBBY) =

Options :
1
in+1
1. =
4
dn+1
2. %
n
in+1
3. %
4n +1
5(4n + 1)
4, %

Question Number : 4 Question Id : 4509386884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



2 3 4
If A= [l k 2\ 13 singular matrix, then the quadratic equation having the roots k and pt
4 15

2 3 4
A= [1 k 2‘ 28 OO SPS ©ond, k HB0 i rerenm ey o3¢
415

A TOTA

Options :

6x2+13x+6=20
1. %

12x2 —25x 4+ 12=0

2. 3

6x>2—13x+6 =20
3. v

2x2 —5x4+2=0
4, %

Question Number : 5 Question Id : 4509386885 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let 4 be a 4 X 4 matrix and P be its adjoint matrix. If [P| = I;\ then |471| =
4 OO 4x4 SF@S HO0M P OO 4 GBS, BNV SF|es ©HROTO.

IP| = |§| OB |47 =

Options :



2. %

42
3 %
4.+ 4

Question Number : 6 Question Id : 4509386886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The system x+42y+3z=44x+5y+3z=53x+4y+3z=1 1s consistent and
34 =n+ 100. then n =
x+2y+3z=44x+5y+32=53+4y+3z=1  d88H S50 ot
HAAM 31 =n+ 100, BOVS 7 =

Options :

—42

— 86

16



Question Number : 7 Question Id : 4509386887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The complex conjugate of (4 — 31)(2 + 3i)(1 + 4i) is

(4 — 31)(2 + 30)(1 + 4i) BBEY DOEY doasnifo

Options :

7+741
1. %

—7 + 741
2. %

—7 — 741
3.¢

7—741
4, %

Question Number : 8 Question Id : 4509386888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the amplitude of (Z — 2) 15 g, then the locus of Z is

(Z — 2) O30 E3OTFedod) g OO, Z ABNEL 2OCHNDGN

Options:

=10, >0



o= Z - =)

2. ¢

o e o=
3. %

x>=0,yv=0
4, %

Question Number : 9 Question Id : 4509386889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

atbw+cw? a+bwtcw?

If w is the cube root of unity. - =
ctawtbw btcwtaw

athw+cw?®  a+bwtcw?

0 OV 1 BNEL NADTO0 WON, + -

ctaw+bw?  btcwtaw?

Options :

2

Question Number : 10 Question Id : 4509386890 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Roots of the equation a(b —¢)x? + b(c — a)x + c(a — b) = 0 are

a(b—c)x®+b(c—a)x +c(a—b) =0 CRO5) NFETCD

Options:
a(b —c) .
cla—b)’
1. %
b(c —a)
cla—Db)’
2. %
c{a — b)
a(h—rc)’ 1
3.¢
cla — b;) i
b(c — a)
4, %

Question Number : 11 Question Id : 4509386891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If(3+i)isarootofx®? +ax+ b =0thena =

Options:

3

1. %



Question Number : 12 Question Id : 4509386892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The algebraic equation of degree 4 whose roots are the translates of the roots of the equation

536+ 70 +9=0 by-1is

5062 +7c+9=0 S¥800 Srerey -1 & Srd) TodT ST

NENSED SFETONTT (163 4 85 hsiied DBaH Sédea0
Options :

¥ —3xPtex+4=0

1. %
x4+ 9x3 272 4+38x4+28=0
2. %
x*4+5x3 4+ 6x24+7x4+9=0
3 %

s _ BExf f e T 19=10



Question Number : 13 Question Id : 4509386893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the roots of the equation 4x® — 12x% + 11x+ m = 0 are in arithmetic progression, then m =
4¢3 — 1202 + 116 +m = 0 Q308 oDFETEN @OSL?@@& JO®m =

Options :

—3

Question Number : 14 Question Id : 4509386894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of 5 digit odd numbers greater than 40,000 that can be formed by using 3. 4. 5, 6. 7.

0 so that at least one of 1ts digit must be repeated is

3,4,5, 6.7, 0 O &I0rI0D GG 40,000 0B DA § @05 B

D050 ED0 2,8 €908 OV YSTYB0 @D R oS

Options :
2592
1. %
240



L]
=
[
-2

I~
T
Lh
b2

Question Number : 15 Question Id : 4509386895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The number of ways in which 3 men and 3 women can be arranged in a row of 6 seats. such that

the first and last seats must be filled by men 1s

W, L a -} \ I o v,
3 000 AN 3 [AOD, 6 VLY SRS 2.8 SHIS, T LB Dad
RS YD ST ErER G0, 9HENIOT Aere os

Options :
720
1. %
36
2. %
144
3.¢¥
4% '°

Question Number : 16 Question Id : 4509386896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If a committee of 10 members 1s to be formed from § men and 6 women. then the number of
different possible committees in which the men are in majority is

§ 008 BN HOK 6 HOO [NOS 10 5H0A DD EORS EMETD Do e
TODSOD S, 9B B8 oIS GOT GO TSN DA St
DO

Options :

931
1. %

Question Number : 17 Question Id : 4509386897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the eleventh term in the binomial expansion of (x + @) is the geometric mean of the eighth

and twelfth terms. then the greatest term 1n the expansion is

G+ g G308 B DO 11 & HB0, 85 HBOM 128 Hee) Hed
693500 0N, B0 & DAGE S KO e
Options:

78 term

(SESTAINY
1. %



8™ term

8o o3 CIoaN)
2.
9™ term
90 CID
3 %

Question Number : 18 Question Id : 4509386898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The sum of the rational terms in the binomial expansion of (-u@ +3Y 5] W

(VZ +35) 10 GBgp 65096 RGS 98SeAaD Hesaner Ty Znehan

Options :

41
1.¢

39
2. ®

32
3. %

30



Question Number : 19 Question Id : 4509386899 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

& A B x+1 C D

e 1 2 ™M e e 2

1 A E x+1 C D
= o) = 0N
(Gar1)(x—2)  3x+1 +x—2 OG0 (Gxt1)(x—2)  3x+l + -2 IL@‘

Options :

A4+3B = 10, 4:C = 1:3; B:D = 2.3
1. %

2438 =0, AL = %), B =32
2 ®

A—=3R = A = F2. BP= 13
3. %

A+ 38 =0 46 =32 BEB=I1]3
4. &

Question Number : 20 Question Id : 4509386900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- : ; tan Sxcos3x |
If the period of the function f (x) e , is ar, then f (E) —
sin 6x 8
- tan Sxcos3x _ > )
flx)= = AB0E), 85050 a WOV, f (%) =
S111 O6X

Options :



2| =

—1
2. %
1
V2
3. ¢
1
wE
4. ®

Question Number : 21 Question Id : 4509386901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If sinx + siny = @. cosx + cosy = [ then cosec(x+v) =

sinx + siny = @. cosx + cosy = f @QD@S, ) () cosec(x+y) =
Options :

,82_':"-2

- 182 +CI2

2aff

ﬁﬁ_uz

2af




2af

ﬁz+u2

Question Number : 22 Question Id : 4509386902 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If P+O+R= g._ then cos (g — P) +cos (g — Q) +cos G — R)=

P+Q+R=E. 0N, R cos (E — P) +cos G - Q) +cos (g — R)=

Options:

P 0 R T
4cos—cos—CcosS— — COsS—
2 & 8

1. ¢
. _P _Q . R+ U
Loazwr_ﬁzsmz coag

2_%5
B @ R T
451115 sin— sma — CO% g

3. #
i Q R i

Asin —cos —sin— + cos —
2 2 2 8

Question Number : 23 Question Id : 4509386903 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Fora € R—{0}.1facosx+asinx+a=2K 4 1 has a solution, then K lies in the nterval

a € R—{0}8, acosx+asinx+a=2K + 1 50 &0D), K 60T 0680

Options :

[n bRt i -U'Ea.]

2 ' 2
1. %
g+ 1—2 ax1lay2
2 : 2
a—1 =42 a—1+~2
2 ’ 2
'I.f 3 ; . - 2 ; ;
(V2a? +2a+1+1) (V2a?+2a+1-1)
I 2 ; 2
4, %

Question Number : 24 Question Id : 4509386904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

[f the general solution set of sinx+3sin3x+sin5x =0 isS. then {sina /a € §} =

sinx +3sin3x+sin5x=0 G0E, TTOE O DD S OB, {sina /a € §} =
Options :

f1,—1,0}



5 i
{— = 0,1,—1}

-
2. %

NG

V3 -3

2" 2
3. v

-

1 1 2 r ' 2
4. %

Question Number : 25 Question Id : 4509386905 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If @ is an acute angle. cosh x = K and sinhx = tan @, then sinf =

B 2,8 ©0 8030, cosh x = K HOGRD sinh x = tan 6 €900, sin f =

Options:
K

KZ4+1
1. %

K*+1
, x K*+2

VK? —1
3.¢¥ ®



Question Number : 26 Question Id : 4509386906 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a triangle. if the angles are in the ratio 3:2:1, then the ratio of its sides is

28 (829250S Q) Feren 3:2:1 AANBS GO, Q) 2HBSNO DB

Options :

1:2:3
’|_ E

2:V3:1
2.9

3:4/2:1
3_ W

: \.E 3
4, =

Question Number : 27 Question Id : 4509386907 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a triangle ABC. if BC = 5, CA=6. AB =7, then the length of the median drawn from B onto
ACts

2,8 |B2h2e50 ABC 5 BC =5, CA=6, AB = 7 @008, B 0B AC D% A
NQSMB0 rche)

Options :

5

1. %

Question Number : 28 Question Id : 4509386908 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In AABC. it AB:-BC:.CA=6:4:5.thenR :r=

AABC fj'Sé' AB:BC:CA=6:4:5 @WONS, R :r=

Options :

16:9

1. %

16:7



Question Number : 29 Question Id : 4509386909 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

a=ai+pj+ 3k. b= I%ZE. 0=3i +2j +k are linearly dependent vectors and magnitude of @ is

V14.1f a. B are integers then @ +§ =

MG v s g smoom G g § s =

a=ai+pj+3k, b=j+2k, c=3i 4+2j +ken DD &BSIAIN HO T G

D00 V14, . B oG DODIOONT ¢ 48 =

Options :

Question Number : 30 Question Id : 4509386910 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



¢ is a vector along the bisector of the internal angle between the vectors =447 j — 4k and
b=121~ 3j+ 4k If the magnitude of ¢ is 3y/13 then ¢ =

¢ R0 a=4i+7] - 4k b=121- 3+ 4k SOIO Hse B0BSED HhB S DO

02 J02¢ ey 2.8 64, ¢ T308), 070 3413 BN ¢ =
Options:

5 —8j+2v2 k

1. %

10i+4j — k
2.¥

i—10j+4k
3. %

2\/2i+5] — 8k
4, %

Question Number : 31 Question Id : 4509386911 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

B=t—]4 k.b=2i +i+ k are two vectors and Cis a unit vector lying in the plane of & and

b. I ¢ is perpendicular to b then ¢. (f+i+ 21_{) =
=i-j+kb=2i+]+ke0Bok SBTeN HBAM & OTE a HOKW be) B0
) 28 O0rE) A, b8 00T 0T ¢ (i++2k) =

=]

-
P

Options :

0
1. %



3 -

=
| ]
=i

> -l
Ml -
=

4, #

Question Number : 32 Question Id : 4509386912 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A(1.2.1).B(2.3.2).C (3. 1. 3) and D (2. 1. 3) are the vertices of a tetrahedron. If ) 1s the angle

between the faces ABC and ABD then cos 0=

A(L2.1).B(2.3.2).C(3.1.3) snB0M D (2. 1. 3) €0 28 ey Ghng), 3. ABC

005 ABD 05RO ¢33 §620 §0NS cos b=

Options:

2
|-—~| £
o

oo
. [
=
m‘m



5

2 \.,?
4.

Question Number : 33 Question Id : 4509386913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

ifa=i—jtk b=i+]-2k c=2i—3j—k d=2i+] +k are four vectors then

(@xc) x (bxd) =

a=1—jtk b=i+j-2k c=2i-3j—k d =21+ + ken Tenth SHFe @ans

@) x (bxd) =

Options :

21 +19j — 11k

—8i+19j — 29k

—8i+j — 29k

Question Number : 34 Question Id : 4509386914 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Mean deviation about the mean for the following data 1s

(Class Interval

0-6

6-12

12-18

18-24

24-30

Frequency

1

2

3

2

1808 0708 e90% 500 DOG NG 5N DIOI0

503113 @0eHH0

0-6

6-12

12-18

18-24

l

2

3

2

Question Number : 35 Question Id : 4509386915 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 12 dice are thrown at a time. then the probability that a multiple of 3 does not appear on any

dice is

12 2PO%OS ME00S BBONSYE, & DS Do 3 Bk, HETzo EAN0WE

TS N0zrdseh

Options:



Question Number : 36 Question Id : 4509386916 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a number is drawn at random from the sef {1,3,5,7, .., 59}, then the probability that it lies in

the inferval in which the function f(x) = x* — 16x* + 20x — 5 is strictly decreasing, is

{1,3,5,7, .., 59} abed cDOCh QP yed )80 2,8 05 @?9., 8 JOYS

F(x) = x* = 16x2 + 20x = 5 [NDOD0 H 9B Te0M &0 ©0SE0S

GOGEIRS D0ZTE
Options :
1
1. %



[

3. %

o] =

4.+

Question Number : 37 Question Id : 4509386917 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In a class consisting of 40 boys and 30 girls. 30% of the boys and 40% of the girls are good at

Mathematics. If a student selected at random from that class is found to be a gitl, then the

probability that she is not good at Mathematics 1s

40 908 2rend B 30 208 ¥y EORS 28 SBEHBSD 2rends 30%
80k OIS 40% HB0S Hdeen. & S¢S Dok ordydsom
JothsA Drrsd 28 ardE 9 BOW, 6D HSB0S T FEFITS
BNTARNI(
Options :
-

1.4

SN



Question Number : 38 Question Id : 4509386918 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A basket contains 12 apples in which 3 are rotten, If 3 apples are drawn at random simultaneously

from 1t, then the probability of getting atmost one rotten apple 1s

b o of o i c ;
2,8 WS &) 12 6DG H0GS 3 N Garyon. o D08 230 3 8D
H9 ORCDIE0T S5, 9 &S H0 Hows 28638 Mothom

G0CETRE (10 02T §e

Options :
34
1. % e
48
5y
2.
21
55
3. %
42
55
4. ®

Question Number : 39 Question Id : 4509386919 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

7 coins are tossed simultaneously and the number of heads turned up 1s denoted by the random

2

: : : : : y
variable X. If p is the mean and o> is the variance of X then l

P(X=3)
T TBHOD H500S HHEFh B0 SAIS e Hos Sy

DOTF X &) APAN0E. X G308, @08:0¢)300 1 aBa Dge o o s,

LA
P(X=3)
Options :

56
5
1. %
84
5
2. %
112
3.
224
5
4, %

Question Number : 40 Question Id : 4509386920 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A manufacturing company noticed that 1% of its products are defective. If a dealer orders for 300

items from this company. then the probability that the number of defective items 1s atmost one 1s
28 BOFD N0, TR BYy GBS 1% SVJN S 0N &)
HBOD0B. a8 HUBH & 0% D0 300 SNHOT &b DAEB, e FORS

30090 0D 283507 DOLROE GOErAS fiey 0Pz

Options :
3
o3
1.% €
2
e?
2. %
3
&2
3. %
4
3
a.v ¢

Question Number : 41 Question Id : 4509386921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



P 1s a variable point such that the distance of P from A (4.0) 1s twice the distance of P from
B (—4.0). If the line 3y — 3x — 20 = 0 intersects the locus of P at the pomts C and D. then the

distance between C and D 15

P 28 DUD0, AG.0) od P & ey (410 B(-4,0) h0& P & ffe) (o8
GORBRTLENT 0B, 3y - 3x— 20 = 0 &F JG$0D P GBSy Hoch H5) C,
D Dochye 36 DOAW, B €, D © S0

Options :

3.¥

Lo | oo

4. %

Question Number : 42 Question Id : 4509386922 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

When the origin is shifted to (h, k) by translation of axes. the transformed equation of

x% 4+ 2x + 2y — 7 = 0 does not contain x term and constant term. Then (2h + k) =

570 DGR NesFosss @8 HBIEN TS50 (h k) § 20O TR
242042y =7 = 0 DeDEUR0 G, GFaroes 8GR0 2T oA VY
TR SO0 GO, @) (2h + k)=



Options :

7

2

1

2
2. %

2
3.¢

0
4. %

Question Number : 43 Question Id : 4509386923 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let aeR. If the line (@ + 1)x + ay + @ = 1 passes through a fixed point (h, k) for all . then
Wtk =
2eR @ BT, (@ + Dx + av + a = 1 93 AOFTD @) @ O 2.8 VY

20N (b, k) HOw 9B, 9 )ch h? + k2 =
Options :

2

1. %



it M

Question Number : 44 Question Id : 4509386924 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If (@, ) is the orthocentre of the triangle with the vertices (2,2),(5,1), (4,4), thena + f =

2,2), (5, 1), (4,4) 3T o (@230 G308, ©0250[3s0 (a, ) ©ONE, €5))¢h

a+tf=

Options :
6
1.+
5
2. %
5
2
3. %
Fy
2
4. %

Question Number : 45 Question Id : 4509386925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The area of the triangle formed by the lines represented by 3x 4+ y + 15 = 0 and
3x% + 12xy - 13y = 01is
3+ y+15 = 0 DOAN 332 + 12xy — 1352 = 0 dDEET o) Dperd

238 | 82Dz ITO50

Options :
153
1.¢ .
153
2. %
15v3
4
3. %
15
V3
4, %

Question Number : 46 Question Id : 4509386926 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If all chords of the curve 2x* — y* + 3x + 2y = 0. which subtend a right angle at the origin
always passing through the point (a, £). then (a, f) =
rOD0N) 3G O0DTETR) IO &3, 2x% — y2 4 3x + 2y = 0 S50 Ch¥}
287 200 Y YA (a, f) D0chaY thom ey &0, @) )ch (a,f) =

Options:



[—3, _Zj

1.4
. G2
3. %
4. %

Question Number : 47 Question Id : 4509386927 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

2x —3y+1=0and 4x — 5y — 1 = 0 are the equations of two diameters of the circle

S=at+y 4+ 292+ 2fy—11=0. Q and R are the points of confact of the tangents drawn

from the point P(—2,-2) to this circle. If € is the centre of the circle § = 0. then the area (in

square units) of the quadrilateral PQCR is

20-3y+1=0 0800 4x-5y-1=060 S=2?+y2 +2gx + 2fy - 11 = 0 )Y&0

A8 Both e dandderen. & SyEA8 P(-2,-2) Docha) Hod AD

D)0:020 9)0,D0Ie0 @ HO0I R. N0 §=0 GhE) SoB0 € LS,

PQCR T80 T308), BFO50 (5. AN

Options :
25
1. %
30

2. ¥



Question Number : 48 Question Id : 4509386928 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If the imverse point of the point (=1, 1) with respect to the circle x* + y? = 2x + 2y -1 =01s

(p,q). thenp* + ¢° =

24y =20+ 2y — 1= 0 3980 s, (-1, 1) Doce) T8y DS Hotvay (v,q)

[t

OB, pttqt=

Options :
1
16
1. %
1
2.9 -
1
4
3. %
1
2
4. ®

Question Number : 49 Question Id : 4509386929 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If (a,b) is the midpoint of the chord 2x —y + 3 = 0 of the circle x® + % + 6x — 4y + 4 = 0.

then 2a + 3b =

2y 4 6x — 4y + 4= 0 S9Q0 B3N 28 2x — y 4 3 = 0 B30T} N300 (a,b)

OONS, 2013 =

Options :

=i

Question Number : 50 Question Id : 4509386930 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a direct common tangent drawn to the circles x% + y2 — 6x + 4y + 9 =0 and

x2 4 y2 4 2x = 2y +1 = 0 touches the circles at 4 and B. then AB =

W2y —6r+y49=0 HOOW A4y +a-2y+1=0 STOH HDS 28

3638 &8 )50 & SO A DO B DOH)® 53¢ 93, AB =

Options :

, 8
1. %



2. %
<TE
3 % 46
21,-"6

4,

Question Number : 51 Question Id : 4509386931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The radins of the circle which cuts the circles x? + y2 — 4x — 4y +7 =10,

P +yi+dr—4dy+6=0andx* +y* +4x+4y+5=0 orthogonally is

Y4y T7=0 7 -4y 4 6=00000 2+ y2 4 4x + 4y +5=0

SYTOR LODTIGN0 T S9B0 08} rsrdo

Options :
v/ 193
442
1.¢
V193
2. % -
V193
+



v 193
2y 2

Question Number : 52 Question Id : 4509386932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of the normal drawn to the parabola y* = 6x at the point (24,12) is

v? = 6x HTDOOTRE, (24,12) Doy ¢ Hde @Der02) DD Haddde0

Options :

3x—y =060
1. #

4x +y = 108
2. ¥

2x +y =60
3. %

—ilg=l)
4, %

Question Number : 53 Question Id : 4509386933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If Aj, A, Ay are the areas of ellipse x +4y* —4 =0, its director circle and auxiliary circle
respectively, then 4, + 4; — 4, =

Ay Ay, Az €0 SN 1% +4y% — 4 =0 BUSYDIT, TR0 AADE 9B HiBA
DFODS YT FTERDE, 4, + 4y — 4y =

Options :

11w

Question Number : 54 Question Id : 4509386934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of the pair of asymptotes of the hyperbola 4x% — 9y? — 24x — 36y - 36 = 0 is
4x2 —~ 9y? — 24x — 36y — 36 = 0 OBITHONO TNE) VIO H)8) Barainio

3B0E) HadBe0

Options :
2x? —xy—3y? —14x— 9y —12 =0

1. %

2x? —xy—3y? —2x+3y=0
0 %



2%? —5xy +3y2 —22x+ 27y + 60 =0

4x%> —9y? — 24x — 36y =0
4.

Question Number : 55 Question Id : 4509386935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of one of the tangents drawn from the point (0, 1) to the hyperbola

45x2 —4y* =55

; \ = @ o g 5 3 ok

(0,1) D0 DOG 452 — 4y* = 5 WBNTHOOITRE AN D 80OS 2,570

NaDEe0
Options :

4y +5=0

Ix+4y—4=0

2. %

S5x —6y+6=0
3., %

9% —2y+2=0
4.

Question Number : 56 Question Id : 4509386936 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Consider the tetrahedron with the vertices A(3,2,4), B(xy,y1,0), C(x5,75,0), D(x3,y5,0). If
the triangle BCD 15 formed by the lmes y = x, x + y =6 and y = 1. then the centroid of the

tetrahedron 15
A(3,2,4),B(xy, 1, 0), €y, v2,0), Dz, v5,0) BTN &5) HEEDD Sn&yowo.
y=11+y=6:0000 y= 13207 |8HE0 BCD S80S, estdéhtnd) TBng)
5016 270

Options :

Question Number : 57 Question Id : 4509386937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

IfP (2B, a)liesonthe plane x + 2y —z—2 = 0 and Q (@, —1, ) lies on the plane

2x —y + 3z 4 6 = 0 then the direction cosines of the line PQ are

P20 a) OO x+2y—z-2 =003 DO OO @ (2, -1, ) 9O

2x —y 43246 = 06003 HoHIS, PQ T BBE) H5 SRchen



Options :

Question Number : 58 Question Id : 4509386938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let m be the plane that passes through the point (=2, 1,—1) and parallel to the plane

2x —y+ 2z = 0. Then the foot of perpendicular drawn from the point (1,2,1) to the plane n

is

T 9% H00 (=2,1,-1) Doche) HOT Sy 2x — y + 22 = 0 SerR8 NroSYOT

GOENOOR WhH0To. @Y (1,2,1) Doy Hod 1 derdd A

00

Options :

(—3,—1,1)
1. %



E

(—3,3,—1)
3. %

(=1,3,—1)
4.

Question Number : 59 Question Id : 4509386939 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

sx.cosec{yx)—1 e
(V) then lim f(x?) =

Iff(l’) - (x—2)cosec(vx)’ x—w

S5x.cosec(yx)—1 -
= ( F_)H @Qﬁ@, lim f(x?) =
(x—2)cosec(vVx) xe

f(x)

Options :
1. % :

==k
2. #®

¥
3.

—5
4. #

Question Number : 60 Question Id : 4509386940 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

V14 4x —+/3+ 3x

-
Options :
72
1.+
1
> % 36
1
24
3. #
1
12
4. %

Question Number : 61 Question Id : 4509386941 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

(VZxF1+VZa—1) +(VZx+1—vZx—1) " (Px*-16)

If lim = : = 1,then P=
X—00 (x+va2-2) +(x—Vx2-2)
a 2
; V2x+1+2x—-1) +(v2x+1—/2x—1) (Px*—16
lim ( ) : ) ( e 1 ®one, P=

X—00 (x+VxZ-2 E+{x—\f'm)e
Options :

16



64

2. %
1
L x 64
1
16
4.

Question Number : 62 Question Id : 4509386942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

sinx

The rate of change of x with respect to (sin x)* is

(sinx)* S9ars x50 AL L7 T

Options :

; sinx
g (T + cos x. log 1)

(sinx)*(x.cotx + logsin x)
1. ¢

(sin x)*(x cot x + log sin x)

; sinx
b k] ( —tcosx. log .:c)
2. %
sin x
y + cos x.log x
X
3., %



(sin x)*(x cot x + log sin x)

Question Number : 63 Question Id : 4509386943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ax+f
oy — . then 2y, v2 =
) — YiV3

ax-+ g
= ‘3. OO, 2y Vs =
yx+4 s

Options :

Question Number : 64 Question Id : 4509386944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following 1s false?

& 808 73S DE @065 53007

Options :



d
—[Sec Y (cosh x)] = sech x
dx

1. %
d |

P [Cos™1(sech x)] = sech x
,x B

= [Tan~1(sinh x)] = sech x
3. % -

d X

e [T{m_l (mﬂ. E)] = gE0X
4.4

Question Number : 65 Question Id : 4509386945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The point which lies on the tangent drawn to the curve x*e¥ + 2,/y+1=3atthe point (1.0) is

2009 (1, 0) 9O S8 x¥e? +2,/y +1 =3 8 DS 0)8;09 2 60T Hoched

Options :

(2. 6)
1. %

(2’1 _6)
2. #

(—2,—6)



(—2,6)

Question Number : 66 Question Id : 4509386946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If f(x) = x¥, then the interval in which fix/} decreases is

F(x) = x* OB, fix) I8 TE0 9TN0BE0

Options :
1
o]
e
1.¢
[0, e]
2. %

Question Number : 67 Question Id : 4509386947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the Rolle’s theorem is applicable for the function fi1) defined by f(x) = x* +Px—12 on

[0. 1]. then the value of C of the Rolle’s theorem 1s
f) =23 4 Pr—12 T QS0 (IHAFAE [0, 1] @oébo 6T 2500
9 DI0NCD0 NS, 5B DT 0BNIE H020H0D € B Dend

Options :

1
b
V3

<.
w|| -

| e

l‘-:l'\-\_
wd

3.¢

| =

4, ®

Question Number : 68 Question Id : 4509386948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1-tan®

X 5 4
5 attains 1ts

The number of all the values of x for which the function f (x) =sinx + o
an-x

maximum value on [0, 27] i

1-tan®x
1+

[0,27] 2, f(x) =sinx + DaoDO (fBa) dewad FoGTRS fey x GhE)

tanix

890, NI O

Options :



1. %
1
2_ W
5
3.v ©
infinite
90650
4. %

Question Number : 69 Question Id : 4509386949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
- T am T ——r
Ifxe [Zm'f ek 2nm + :] and n € Z. then f Vv1—sin2x dx =

Ifxe [Zm'f —E, 2nm + %] SHBO n € Z ®ONS, [V1—sin2x dx=

Options :

—cosx+sinx+c

1. %
cosx +sinx+c
2.
—cos x —sinx +c¢
3_%-5

cosx —sinx+c



Question Number : 70 Question Id : 4509386950 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
= ) 2
J e* (l ) 2) dx =
x+ 4
Options :
xer 4
(x+4)2  °
1. =
xeX :
(x + 4)
2_ w
£ i 5
x+4) ¢
3 ¢
2xe*
TEWL L
4, =

Question Number : 71 Question Id : 4509386951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If |

[——dx=tan G - ,8) + ¢ Q0SS %— B 8 10 DendIOS 2.8 Denss

l1-cosx

dx = tan G : 3 ﬁ) 4 ¢, then one of the values of % — [ 1s

1-cosx

Options :

1.



.
I
2.
@
3. %
m
4% 4

Question Number : 72 Question Id : 4509386952 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

I

md;{ =a+ logh,thena — b =

1£729 [

1
XA{xZ+9)2

729 | dx =a+logh ®ONS, a—b =

Options :



Question Number : 73 Question Id : 4509386953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- ; 2 =
If n = 2 1s a natural number and 0 < 6 < = then

sinf df =

[ (cos™0 — cosﬂ)lfﬂ

cosnt1g

n= 22835 oS HOAN 0 < 6 < % 0N,

sinfdo =

cosnt1g

f (cos™0 — cosﬂ)lfﬂ

Options :

I

— (cos™™g —1)2 +¢

! (cost=mg — I}H% =
(n+ 1)(1—n)

o (cos™ Vo —1)% + ¢

mn

(l-— CDS{l—njﬂj(ﬂ+l]fn

1—n2

Question Number : 74 Question Id : 4509386954 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

14 21 gy?T

Jie =
Options :
77
1. %
1
2. %
76
3. %
1
78
4.

Question Number : 75 Question Id : 4509386955 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

6xIZ+1

T o 4x342x+3 ' Bl 2 .
If f(x)= then fﬂ f(x)dx =
24l - xS
6x2+1 0<x<l
o )ax3t2x+z ! S D R e
i) = 003, fn Fey=
x24+1 , 1=x<2
Options:
11 3 F -
g e



1 10
=log 33—

2 3

e
_D —
Frasd g

EiDgB—I-—

Question Number : 76 Question Id : 4509386956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If fln[:r} dx = 120. thenn =

fln[.x'] dx =120 OO0, n =

Options :

15

1. %



Question Number : 77 Question Id : 4509386957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The area of the region under the curve y = [sinx — cosx|,0 < x < and above x-axis, 15 (mn

square umifs)

v = |sinx —cosx|,0 € x _g 50 (506 DO r-e5 0N G o0 TS50

(k.
e

(6 BrAS)

Options :
- 2V 2

2v2 -1
2. ®

2(v2-1)
3.v

2241
R CEARY

Question Number : 78 Question Id : 4509386958 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The differential equation formed by eliminating ¢ and b from the equation y = ae®* + bxe® is
y = ae? + bre? D60 S 0,5 T HTWAOD SOR0DGS DI B8O
eDEBEI

Options:



Ay —d=1=

1. %

:ll__r” -i— 4}11 — 41:" —= []
2. %

¥y 4y +4y=0
3. %

:ll__r” =l 4}1" + 41:" =1
4. &

Question Number : 79 Question Id : 4509386959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
< 2 : ; : ; ; ;
If y = ae?™*¢ is the general solution of a differential equation, where  and ¢ are arbitrary

constants and b is a fixed constant. then the order of differential equation is

g DO ¢ e OIrGyNE Voo HBO b WIG G VTS0 @)
B0 )RS y = a¥e? ™ RO 28 BSFON NEEER0 TBNE; o

OB & 95500 DanEBEI0 TNE) HBTE0

Options:
1
1.4
2
2. %

LS

3. %



Question Number : 80 Question Id : 4509386960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The solution of differential equation (x + 2y3) g =y is
Ced2y® )— =y €9 @938 HWEBET AT
Options:

x = y(2xy + ¢)

1. %
x=y(y*+¢)
2.9
y = x(x? +¢)
3. %
yt
xy=—xfi
o 2
4. %
Physics
Section Id : 450938148
Section Number : 2
Mandatory or Optional : Mandatory

Number of Questions : 40



Section Marks : 40

Enable Mark as Answered Mark for Review and
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Clear Response:
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 81 Question Id : 4509386961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The time period of revolution of a satellite (T) around the earth depends on the radius of the circular

orbit (R). mass of the earth (M) and universal gravitational constant (G). The expression for T, using

dimensional analysis 1s (K 1s constant of proportionality)

2,8 (500 21 OET BEHE HES 500 (T) eS8, 270D 133553 (M),
A5 M3 Vorosn (6) HBA HESY §85 W Iy ®) 0O
STPEHGS, DBAN D) T30 EDTIAAS T B0E SDEGeN (K ©ars

VT0%0)
Options :
RE
E|l—
GM
1. %
5 R
GM
2. %
RE
K- |—
GM



R3
GM?2

Question Number : 82 Question Id : 4509386962 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An object projected upwards from the foot of a tower. The object crosses the fop of the tower twice

with an mterval of 8 s and the object reaches foot after 16 s. The height of the tower is

[g=10ms™]

28 630 @D 2P0 oG 28 SNV VLAY D8 VT . O €30

FDTR), 8 VED VTS ToRD ¢S & echihy R, 16 VIS T,

&5 £330 &) [g = 10ms ]
Options:

220 m

1. %

240 m

640 m

80 m
W

Question Number : 83 Question Id : 4509386963 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The centripetal acceleration of a particle in uniform circular motion is 18 ms™2. If the radius of the

circular path is 50 cm, the change in velocity of the particle in a time of %s is
DB J9TFO VOS0ES G 28 690 Tng) ©98T0(¢) ¢ 5680 18 ms 2 SyTFE

740 C08) 50 50 em @A s SOIEHAS 3690 W FHOS R irch)

Options :

Question Number : 84 Question Id : 4509386964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The horizontal range of a projectile projected at an angle of 45° with the horizontal is 50 m. The

height of the projectile when its horizontal displacement 1s 20 m 1s

§ 2 QArodTRs 45°560 DALY (HEN0 TohadS 28 (D380 Se

ey

A

D0 P3) 50 m. (3 50 § 923 eir0edd (25090 20 m ¢ T e
Options :

18 m



36m

3 ¥ 12 m

24 m

Question Number : 85 Question Id : 4509386965 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Abody of mass 1.5 kg is moving towards south with a uniform velocity of 8 ms ™. A force of 6 N

is applied to the body towards east. The displacement of the body 3 seconds after the application

of the force 1s

10555073 15 kg (1) 2,8 90y 8 ms ™2 D56 Fiod 58 €0 FoyB) Schencn) B. &8
932 6N 2erd) érd) HFS (NBFAOTE. DErQ) (HBPRODS 35 B,

¢

ool

o

S0y F(Zoso

Options :

24 m
1. %

30 m
2. ¥

18 m

42 m



Question Number : 86 Question Id : 4509386966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

th
The upper (—) of an nclined plane 1 smooth and the remaining lower part 1s rough with
fl

coefficient of friction . If a body starting from rest at the top of the nclined plane will again

come fo rest at the bottom of the plane. then the angle of mclination of the mclined plane is

28 a7 00 ABN5) i) (%) 2 23110 e e, DA D 230 HEIE) TRy
€509) 8. (1508 270 BRE) (138 sN0ED DEITO g PV B0 ) DO 28 DY
0% DB HOG SHOD @8 ey B0 (808 TONGE SO dowh DA S,
TENSHO0 TI0E; e §690

Options :

Sin, [(n i 1) pk]

1. %

N
2. % "

Tan™ [(n_i 1) Ll;;]
3. %



Question Number : 87 Question Id : 4509386967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A spring of spring constant 200 N is initially stretched by 10 cm from the unstretched position.

The work to be done to stretch the spring further by another 10 cm is

200 N (200 907030 fiey 2.8 (200 & Sewed FPHBOHA Fedo o 10 em
AT, (20t & @SSO DT 10 cm AFHOAWEE) TOHHON DA

Options:

3J

1.4

Question Number : 88 Question Id : 4509386968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A ball falls freely from rest from a height of 6.25 m on to a hard horizontal surface. If the ball

reaches a height of 81 cm after second bounce from the surface, the coefficient of restitution 1s
2,5 208 DTN Ve OB VIO 6.25m eh) D0 2.8 Gdade § 32 deroeh

$00 8 DDA, B0 DO Tock) 70 2§ DA Bared 2063 TOS )

=

81 cm IO, (DI HEISO



Options :

3
1. %

0.45
2. #
3 % 75
4 0.6

Question Number : 89 Question Id : 4509386969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The masses of a solid cylinder and a hollow cylinder are 3.2 kg and 1.6 kg respectively. Both the
solid cylinder and hollow cylinder start from rest from the top of an melined plane and roll down
without shipping. If both the cylinders have equal radius and the acceleration of the solid cylinder

is 4 ms~2, the acceleration of the hollow cylinder is

2,8 00 0 2O 28 S A0 TE) (C5THEN SET 32 kg HOA
1.6 kg. 500 a0 B0 Fen A0 TOdr 2.8 aren 007 Hom) V6 Mod
80&%, ZEsom SO, Toth Araren 25 FEITR) 508 &0k 0

P0 B, ¢ 55690 4 ms™2 @0 &'e () & 5860

Options:

2 ms ™2
1. ®

9 ms~?



6 ms™2

3 ms 2

Question Number : 90 Question Id : 4509386970 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A solid sphere of mass 50 kg and radius 20 cm is rotating about its diameter with an angular velocity

of 420 tpm. The angular momentum of the sphere 1s
1£36350°8 50 kg 0008 50 20 em (10 2,8 Db AP0 TR P50 GO 420 tpm

§aoth Jriod |25:0e90 Toh) . o G0%) Seah B0

Options :

3.8 Js

70.4 Js

17.6 Js

L
h
)
—
o

Question Number : 91 Question Id : 4509386971 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
- 0 v LR (] H . ' ' ' " n
The mass of a particle is 1 kg and it 1s moving along x—axis. The period of its oscillation is —. Its

potential energy at a displacement of 0.2 m i

28 8200 Q08 |a35073 1kg 0B 096 x-098 0 Foad D0 . & 820
%) BOTHES 00 % @O0 02 m TR040 & T § 3z 48
Options :

0.24]
1. %

0.48]

0.32]

0.16]

Question Number : 92 Question Id : 4509386972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The potential energy of a particle of mass 10 g as a function of displacement x is (50 x* + 100)].

The frequency of oscillation is

" 5090 x |HOHOM 10 g (5073 (i) 2,8 §e90 G0E) V&% 45 (50 2 + 100)]

OB GO s Yed:0.
Options :
10
T



5

n
2. %

100

5—1

ir
3. %

50

Fri— S_I
4. &

Question Number : 93 Question Id : 4509386973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the time period of revolution of a satellite 1s T. then 1ts kinetic energy 1s proportional to

2,8 G0 812508 FOO T, 9aNE i) (1823 48 DS TIPSO GO

Options :



T—Ef?»

Question Number : 94 Question Id : 4509386974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The elastic energy stored per unit volume in terms of longitudinal strain ‘e’ and Young’s modulus

Y'is

D508 DSNBATEISNNN NS Gd) VSRS, DT Ayed e HOCI

g 5
0D0h Heaso Y dred

Options :

Ye?

1.9 .

1
—Ye
s
2Ye?

2Ye
4. %

Question Number : 95 Question Id : 4509386975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A large tank filled with water to a height ‘h’ is to be emptied through a small hole at the bottom,

The ratio of the time taken for the level to fall from *h" to E and that taken for the level to fall from

I’h! ‘
—t0‘0'1s
2

B ) 3550 S A0ABN 28 DY ETVD, T echibario H& o 2.8 D)

W i 'h' W
Soio ior 9 Dohsed G516, DA b A Dok i 2D)E)

W . )
DBFHEE 583 5erR8 HB0H AEHEO = &) H0A 0° 5 HAFHOE HES

5er08 ez e

Options:

V2 =1
1.

1

V2
2. #

V2
3. %

1

™ |

4, ®

Question Number : 96 Question Id : 4509386976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A slab consists of two identical plates of copper and brass. The free face of the brass 1s at 0°C and
that of copper at 100 °C. If the thermal conductivities of brass and copper are in the ratio 1:4. then

the temperature of interface is

2,8 B3 U OO BAGS T Bk 85 el Do O &od. aek
G0E) WLTI0D0 0°C G DO TR R JT)0D0 100°C 56 §03ed. DG
B0 TN GaeriTEE o0 14 DSBS &), & Boch HOEE s e e
B0 TRy sl fie

Options :

20° C
1. %

40° C

60° C

80° C
4.

Question Number : 97 Question Id : 4509386977 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A monoatomic gas of #-moles is heated from temperature T; to T, under two different conditions.
(1) at constant volume and (11) at constant pressure, The change in internal energy of the gas is
IO dos v’ 110 MEAGIFEDTANYD () VG DIGTEI0 DO (i)
DS &F Bocth IBsH HOVMOS T, Hod T, &SR IATA,
FA56) @0S6E 3SR 1)



Options :

More when heated at constant volume

DG BN ATEI0 5D B TN DBV

1. %
More when heated at constant pressure
G D0 IS BE TAIDED DB
2, ®
Same in both the cases
BOCE DBV ST STz
3. ¢
Zero 1n both the cases
BOCH DOV G3° F3°550
4. %

Question Number : 98 Question Id : 4509386978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In a Carnot engine, when the temperatures are T, = 0°C and T; = 200°C, 1ts efficiency 1s 1; and

when the temperatures are T; = 0°C and T, = —200°C. its efficiency is 1. Then the value of %

15
Gfiden T, = 0°C HOAM T; = 200°C )N 28 56 &m) 000 T,
(58 6 y; G| Tehen Ty = 0°C OO T, = —200°C oY) TR S 6 1, ONS

m_
12

Options :

1.4



0.58

0.73
2. %

0.64
3. %

0.42
4, ®

Question Number : 99 Question Id : 4509386979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Heat energy absorbed by a system going through the cyclic process shown in the figure is
IS S DO S (HEANE 2.8 S50 HOT W, 96 F:190 TVH
€so) 45

Options :

1077 |
1. &



1047 |

2. %

10%7 |
3.¢

1073w |
4, %

Question Number : 100 Question Id : 4509386980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A poly atomic gas with n degrees of freedom has a mean kinetic energy per molecule given by

(if N 1s Avogadro’s number)
n 50[e HODKHEN 10 2T0NGTENE FOMeY VA0S 28 ©eNHF Aifew

S (N - 9T E H09)3)

Options :

nKT
N

nKT
2N

nKT




Question Number : 101 Question Id : 4509386981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A car sounding a horn of frequency 1000 Hz passes a stationary observer. The ratio of frequencies

of the horn noted by the observer before and after passing of the car 1s 11: 9, The speed of car 1s

(Speed of sound v= 2340 ms™)

2,8 5 1000 3D, © :shed50 & SFES [FPANF, D00 ey 28 HOFHA
63 39500, T 0905 THEAS 00 DO TS BT @B
DIDGS G5 T QO AS  11:9. wd, S Jo Dok
(&5 350 v=340 ms™)

Options :

34 ms!

1.4

17 ms

170 ms™!

340 ms™!



Question Number : 102 Question Id : 4509386982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A ray of light travels from an optically denser to rarer medium, The critical angle for the two media

15 ‘C’. The maximum possible deviation of the ray will be

2,8 508 §560 28 T FOGBE OIrSESD 0k 2.8 TSI aFSEoS b
08890 TY0O. (S05rS8 HobH 580 ‘¢, NS & 508 §easN) 0D (10)

OO

Options :
ira
i
2
1. %
ot i
2. %
i — 26
3.¢¥
m—C
4, %

Question Number : 103 Question Id : 4509386983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The angle of polarisation for a medium with respect to air 1s 60°. The critical angle of this medium

with respect to air is

E) O5Fe38ai O308), (haRed8 EAsn 60° e300, TE) (3l Oreds OB Seasin

Options :



Sin~14/3

1. %

Tan~1+/3
2 %®

Cos~1+/3
3 %

1

Sin~! —

4. v3

Question Number : 104 Question Id : 4509386984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A point charge ‘q" coulomb 1s placed at the centre of a cube of side length *L’. Then the electric

fhux linked with each face of the cube 1s

920 T e 2.8 M0 50630 G DocHEr) 8390 ‘¢ Herod Hodadod. &

090 T30E), 2,525,800 (N0G FENIB DCNIS BTT0

Options:
4q
Co
1. %
q
IE,
2. %



612 €,
®
q
Lo 6

Question Number : 105 Question Id : 4509386985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Three equal electric charges of each charge ‘q" are placed at the vertices of an equilateral triangle
of side of length ‘L’. then potential energy of the system 1s
2828 ANTHF0 ‘g O I DTS EITOD L 2DBOMO 28 SedeTT
BB FTO S JOTD. 8 63535 TG WBBHE Deed

Options :
1 3qg°
ineg L
1. ¢
1 g°
4me, 3L
2 %
1 2q°
4me, 3L
3. %



1 2
4me, L

i

Question Number : 106 Question Id : 4509386986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Eight drops of mercury of equal radii and possessing equal charge combine to form a big drop. If
the capacity of each drop 1s “C". then capacity of the big drop i
2598) TR M BRF0 %) NePed TGP0 (16 dVNE 2l Dochajen
£ 28 20 DO DEIT0N. 2535} D0CNH TIE) A5 § ek ¢ oNd
26 DOche TBE) DD § odyeh

Options :

8C

16C

Question Number : 107 Question Id : 4509386987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Five equal resistances each “2R’ are connected as shown in figure, A battery of V" volts connected

between A and B. Then current through FC 1

2,53.8,83 2R” QBTN 11 637 5 AT O D0 TFRSED EOF 8. AshBokn
B D0ced) © S8 V' O © &b EONS FC i 507 Sar0T IS [DaT0

C
D E
Options :
\'
| 4R
v
8R
2. #
\%
3. % R
v
2R
4, ®

Question Number : 108 Question Id : 4509386988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A lamp 1s rated at 240V, 60W. When i use the resistance of the filament of the lamp 15 20 times

that of cold filament. The resistance of the lamp when not m use is

28 DesSd 200)% 240V, 60W 030D Sorch. ION &a)ach & 2en) GBngy
000 AT, B G0 TGS STy 20 T wand dtod
B3 & DO TEY AT

Options :

54 (
1. %

60 ()

50 Q

48 ()
4.

Question Number : 109 Question Id : 4509386989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When an electron placed i a uniform magnetic field 1s accelerated from rest through a potential
difference V;. it experiences a force F. If the potential difference is changed to V5. the force

experienced by the electron in same magnetic field is 2F. then the ratio of potential differences
VZ/VI is

2,8 Y508 ©90DR06 3 (0SS GO JO[TS & ¥, SENHS B30 (Ao
TS oG ¢ TS HOTVSYED JOITS 2 50 200 F. T 30
FOINO B V, § a6 )y JOTR 2§60 200 2F 900 OO
oo e VE/V1

Options :
21

1. %

1-4

4-1
3. ¢

12
Question Number : 110 Question Id : 4509386990 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A rectangular loop of sides 25 cm and 10 cm carrying a current of 10 A is placed with its longer
side paralle] to a long straight conductor 10 cm apart carrying current 25 A. The net force on the
loop 1s

25 cm aBA 10 em Zhzrenm e AIMSRFTY SO0H0 Hom 10 A ;S
D308, B D HERE SSTOSEOM 10 em (IO 25 A DEDIS (NaFaro e

S33) ) PR FTTR) GO, 8 HO0H0 2 DO 20
Options :

625X 10°° N
1. ¢

55X 10°° N

3.75 X 107° N
3. %

8.75 x 10711 N

Question Number : 111 Question Id : 4509386991 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the vertical component of the earth’s magnetic field 1s 0.43 G at a location, and angle of dip 1s

60°. then magnetic field of earth in that location 1s

2.8 [FOSB0S @:SaTeE 0 60°, Zreohir) 083 (¢ Dens) @040 045 G ©oNE &
oS0 Areohar, 083 (607
Options :

1. %



052G
2. ¢

03G
3. %

-~
4 % 0.7G

Question Number : 112 Question Id : 4509386992 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Xand Y are two circuits having coefficient of mutual inductance 3 mH and resistances 10 Q and
4 Q respectively. To have induced current 60 X 10™* A in circuit Y. the amount of current o be

changed in circuit X 1n 0.02 sec 1s
X 20000 Y 93 Boch SOaire @'tz o Heato 3 mH HOck 3 A8 ey
SN 10 @ BA 4 Q. T 500H0ES 60X 1074 A (0 DD SodERso,
0.02 S ©F X 50aH0E &) TOTE) ) DS |DFeFo?
Options :
1.6 A

1. %

0.16 A
2. ¢

03ZA



Question Number : 113 Question Id : 4509386993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two figures are shown as Fig. A and Fig. B. The time constant of Fig. A is 7, and time constant of
Fig. Bis 7g. Then
050G HEPE, DE0 4 OO HE0 BIP T2, 60 A T8 FOVT050 17,
0050 90 B T SONT050 15 @O

2H
a? I*n‘f"l"“l""
-—"‘-fw—--r ; L J
05F
y : < 2
< S4n WO = S g
120 :‘:’ T > ﬁm }' ]
Fig.A (340 A) Fig.B ()0 B)

Options :

Ta =S and Tg = 5s

1
TAZESJD@%}JTB = Bs
1.¢

i |
Ta :ES and g 233
1 1
Ta =758 sDBO 15 =28



Tp = 4sand g = 5s

Ta = 45 0O 15 = 5s

3, %
1
= gs and g = 10s
1 |
Ta =3 OO T = 10s
4, ®

Question Number : 114 Question Id : 4509386994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following produces electromagnetic waves

& 1806 a7¢3S D DEDSTTOHAT, 06 S0 b 1€ Tarow

Options :

Stationary charges

DT VRS GOT BTN

1. %
Charges in uniform motion

. DEBE 0SS GOT eS33 e
Accelerating charges

- &6 ¢5E20 TOCNEN D) & e93F°eN



Stationary magnet

DTRVRS 55 AP, 053D

Question Number : 115 Question Id : 4509386995 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Ablue lamyp emits light of mean wavelength 4500A. The lamp is rated at 150 W and 8% efficiency.

Then the number of photons are emitted by the lamp per second
QOG0 B0 45004 ffe) S0 SS0iFEs0 i S8 Ieedod. & Ao
B5e300 150 W 00K ¢35 ¢ 8% 900 2.8 RED 5006 & B0 58 INST

FEFQ © DOV

Options :

2717 % 1078
1.4

17T A0
2. %

27 17'% 1075

54 x 1016

Question Number : 116 Question Id : 4509386996 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ground state energy of hydrogen atom is —13.6 €V. The potential energy of the electron in this

state 1

TEBS NOTENYS 20w 48 —13.6 &V @B & TS JOF BN,

-

D3z 35 Dene

Options :

272 eV

—13.6 eV

13.6 eV

Question Number : 117 Question Id : 4509386997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the energy released per fission of a 29325 U nucleus 1s 200 MeV. the energy released n the fission
of 0.1 kg of 29325 U in kilowatt - hour 1s.
235 ? 2 S o e 48 on 23D
28 0 U 501080 )¢ & e edh; 45 deNe) 200 MeV. 0.1kg® o U

D8 ToA, A ©mhg 38 Dens &S 8 @0 &

Options :

22.8 X 10°
1.4



228 x 107

11.4 x 10°

820 x 101°

Question Number : 118 Question Id : 4509386998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The semiconductor used for fabrication of visible LEDs must at least have a band gap of

$91000 08 3T LED © $oirdsS &aqrion edars 0% 4Seosdo
IOV

Options :

0.6 eV

1.8 eV

0.9 eV

Question Number : 119 Question Id : 4509386999 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a common emitter amplifier. a.c. current gain is 40 and mput resistance 15 2 kQ. The load

resistance 1s given as 10 kQ. Then the voltage gain is

CE D508 1IN0 SPEOT 9O TR, a. ¢. (DaFeTedy® Densd 40, 208
DBG0 Dens 10k HEAN A AFI0 Des 2k NS, 5§50 4,52 98
RISV

Options:

Lh
2

200
4.

Question Number : 120 Question Id : 4509387000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An information signal of frequency 10 kHz is modulated with a carrier wave of frequency

3.61 MHz. The upper side and lower side frequencies are:

10 kHz 2a3s 2)edsa0 SO 0T SR GadrAOD) 3.61 MHz 2o e)dged (fe)
T8 00 S B DOHAANE. oD DK DD 5 Drede sYdgel

©) 2)ENDEN



Options :

3650 kHz and 3590 kHz

1. %
3620 kHz and 3600 kHz
2.9
3610 kHz and 3580 kHz
3_ W
3600 kHz and 3620 kHz
4, %
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Question Number : 121 Question Id : 4509387001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The energy of third orbit of Li* ion (in J) is

LiZ* @9057S 650 Soress 88 s 48 0 )

Options :

—2.18 x 10718
1. ¢

—6.54 x 10718
2. %

TP S TS
3. %

S0 | e )
4., %

Question Number : 122 Question Id : 4509387002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The number of d electrons in Fe is equal to which of the following?
i.  Total number of ‘s’ electrons of Mg
ii.  Total number of ‘p’ electrons of Cl
1. Total number of ‘p’ electrons of Ne

The correct option 1s
Fe S d TS © Sops 1806 F¢38 0rain?
i Mg S BNDH0 s* IOTS © Hows
i, ClS'Q IND0 P’ IOITS © Howg
iii. NecSQ B0B0 P IOITS © Sog
DB 2ADNE0

Options :



1. 11 only

i, i o307 €550
1. % )
ii. i1 only
i, 1ii o7 H 330
2. % -
i. 111 only
L i ST eH
i, ii. iii
4, %

Question Number : 123 Question Id : 4509387003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The correct order of atomic radii of given elements 1s

Qe 520 sNTOITE) DGATED FFT TS OB (Be0

Options :

B <Be < Mg
1.4

Mg<Be<B

Be<B <Mg
3. %



Question Number : 124 Question Id : 4509387004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following orders are correct regarding their covalent character?
1. KF<KI
. LiF<KF
ut.  SnCly < SnCly
iv.  NaCl< CuCl
The correct option is
1808 1B5r0S 5763 T ©F 290 (55730 BT N2
i KF<KI
1. LiF <KF
ut.  SnClh < SnCls
iv.  NaCl<=CuCl
A8 D80
Options:
1. 1i. 111 only

i, 1i, iii 7| €h 30

1. %

ii. 111, 1v only

i, iii. iv e0° €53

1. i1, 1v only

i, 1ii. 1v o37° €530
3.¢



1. 11. 1iv only

i, i1, iv o3 €50
4, % 2

Question Number : 125 Question Id : 4509387005 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Observe the following sets

Order Property
1. NH; > H20 > SO Bond angle
11, HyO = NHs = H)S Dipole moment
111, Naz > Hp Bond enthalpy
iv. |NO">02>05" Bond order
Which of the above sets are correctly matched?
1800 SO DBV
1500 G380
i | NH3>H0> S0 200 §50
i, |HO0>NH3;>HS O LN 127050
i, |N2>O>Ho 200 0T
iv. |NO">0:y>03" 206 (800

2 2 aDENEN DB B HrASD?

Options:

1. 11. 1iv only

i, 1i, iv o307 €530

1. %




ii. iii o337 D30

iL. 1i1. 1v only

i1, 1il. Iv o377 €5 a0
3. ¢ :

1, 111, 1v only

i, iii, iV 2372533
4, %

Question Number : 126 Question Id : 4509387006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The RMS velocity (ums) of one mole of an ideal gas was measured at different temperatures and

the following graph is obtained. What is the slope (m) of straight line?

(x-axis=T(K); y-axis = (ums)*: M = molar mass; R = gas constant)

NG Gl O 28 IO 3G Eraina RMS ImR), (ums) SO anBafy

508 [ ©20008. AOFDD e (m) HOS? (x-axis = T(K); y-axis = (ugg)s M =

3rerD (3a95073: R = O 9T°0540)

‘jl'

A

m

Options:

1.
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3, %
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Question Number : 127 Question Id : 4509387007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two statements are given below

Statement I: Viscosity of liquid decreases with increase in temperature

Statement II: The units of viscosity coefficient are Pascal sec

The correct answer 1s
1506 BOCH PN P §2ITFQD
5081 156dey) ) (68, sl |ied DOAD SO dHerod

[+

30811 ) HeHe508 [Dadrregren) P00 VED

QBN AP0
Options :

1.4



Both statement-1 and statement-II are correct

& §D 5T s0B AN a3°§ 51T TOCAT DB

Both statement-I and statement-II are not correct

o £ E-T DGO 3§ E-TT O OB 5%

2. %
Statement-I 1s correct but statement-II 1s not correct
551 ABADIE 550 a7 §§-IT HBTDAE 5%
3. %
Statement-I 1s not correct but statement-II 1s correct
I°E -1 DOQDAE 5°CD 57 a7 §E-TT ABTDAE
4. %

Question Number : 128 Question Id : 4509387008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

0.1 mole of potassium permanganate was heated at 300 °C. What 1s the weight (in ) of the residue?

(Mn=55u0;K=39u:0=16u)

300 °C G 0.1 IO © FPEFAOHO DT0HRE &0 D TR, BT (residue)

2260 (g ©F) 0H?

Mn=55uK=39u:0=16u)

Options:
14.2
1.4
1.6



Question Number : 129 Question Id : 4509387009 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correct statements from the following
L. A,G s zero for A = B reaction
I The entropy of pure crystalline solids approaches zero as the temperature approaches

absolute zero

I11. AU of a reaction can be determined using bomb calorimeter

806 S 20T e HBotiod
L  A=BudsH A6 )
L )% Hmdg Gfied Sa0TEE HE 5838 508 HTTO ol s) Denad
P38 NS DDAV
M 28305 B8 AU D er0d 56 DEHDHTA0D Aot

Options :

L. I only
I IT 50| €530

1. %

1. 11T only
I, III 507 €530

2. %



I1. 11T only

L x LI NRITEEW

1 1 10
4.

Question Number : 130 Question Id : 4509387010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Observe the following reactions

AB(g) + 25 H,0(1) = AB(358,0); AH = x k] mol™"

AB(g) + 50 H,0(1) = AB(spn,0); AH = y k] mol™*

The enthalpy of dilution (AHg;;)in k] mol™tis

BO& 585D HOBOOTDSD

AB(g) + 25 H,0(1) = AB(351,0); AH = x k] mol™*

AB(g) + 50 H,0(1) — AB(som,0); AH = y kJ mol™?

g}@(‘\é Oji}mfﬁgj (&Hdll} k} ?Tlﬂg_l adh GS&

Options :

(y —x)
1.4

(v +x)
2.

Y

¥

3. %



1w

Question Number : 131 Question Id : 4509387011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
K. for the reaction.

T(K
Afg) === By

15 39.0. In a closed one litre flask. one mole of Ay(g) was heated to T(K). What are the

concentrations of A2(g) and Ba(g) (in mol L) respectively at equilibrium?

T(K)

Ay(g)

B,(g)

5038 Ke D063 39.0. 2.8 D& e FSS, 28 T Asfg) A TK) 6% 3G

TP, SE e 56, Axfz) B Bag) & MEhcHeN (mol L16T) SN d0es?
Options :

0.025, 0.975
1.4

0.975; 0.025

0.05, 0.95

0.02. 0.98

Question Number : 132 Question Id : 4509387012 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
At T(K). the solubility product of AX is 107*%. What is the molar solubility of AX in 0.1 M HX
solution?
T(K) o509, AX (5 0E ©200 1072, 0.1 MHX (0580 &5’ AX ZrerD
TPSEB05E DOh?

Options :

107"

Question Number : 133 Question Id : 4509387013 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation that represents ‘coal gasification’ 1s

S°D TPIDTAD’ & AP0 JEB00

Options :

CO(p) + H0(e —BK o 0 ) +
2T0S catalyst 2 (&) H, (g)

C(s) + HO0(@@—E o co@ + H (9




1273 K

2C(s) + Oy(g) + 4N, (g) = 2CO(g) + 4N, (g)
3. %
1270 K
CH4 (g) + HyO (g) > CO(g) + 3H,(g)
N1
4, %

Question Number : 134 Question Id : 4509387014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

As per standard reduction potential values, which is the strongest reducing agent among the given

elements?

DT §0DEG FBRVANO Jende (3580, BI50S SreFed edsod
20 §oh88E 680 6?7

Options :

1'\.J,Rb

Question Number : 135 Question Id : 4509387015 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
A Lewis acid ‘X reacts with LiAIHs in ether medium to give a highly toxic gas. ‘Y". “Y" when
heated with NH; gives a compound known as imorganic benzene, °Y" burns in oxygen and gives
H0and ‘2", ‘2’ is
X 00 2,8 PP 800 HK0 080 LidlH & B85 Fob 98 Do
TONG V' DD, Y D NI & IATISYD, 9TRE ol @D
ST, VTS 5906 Hi0 HOOK 7' © AN, 2’ ©dSd
Options:

Basic oxide

§ 52 935
1.
Acidic oxide
@300 €35 )%
2. ¥
Amphoteric acid
AREICARNE IR
3. %
Neutral oxide
b€ 98 )&
4, '

Question Number : 136 Question Id : 4509387016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The method for preparation of water gas 1s

D 5 50ird Hes

Options :



Burning coke in excess of air

68 o @OE TS HOGOHIEIO

Oxidation of C in limited supply of oxvgen

| DO 38338 JBHT S € e38 3886890
2.

Passing steam over hot coke

S 55 AT D3 3DBD HoDHBo

3.¢

Passing air over hot coke

S8 58 AT D Hoddo

Question Number : 137 Question Id : 4509387017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The BOD values for pure water and highly polluted water are respectively
DG D3 HO0 185 TS SENTERY (HGB0T 3 BOD e ST
Options :
>5ppm. =17 ppm

1. %

= 5 Lo
_ ppm. =17 ppm

<5 ppm. =17 ppm
3.¢¥



<5ppm. =17 ppm

Question Number : 138 Question Id : 4509387018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A mixture of ethyl 10dide and n-propyl 1odide is subjected to Wurtz reaction. The hydrocarbon

which will not be formed 1s

D01 T ESEIN
Options :

Butane

FAVMIEATS

Propane

ISP
2.4 =

Pentane

OB

Hexane

B

Question Number : 139 Question Id : 4509387019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following alkenes does not undergo anti Markowmkov addition of HBr?

808 8938 ©F DO HBr & 05r08 SPTL55 08080 SOB?

Options:
Propene
Lﬁﬂgjrs

1.% —
1-Butene
1-20°563S

2. %
2-Butene
2- 20575638

3.¢

3-Methyl-2-Pentene

3-0BO-2-20838

Question Number : 140 Question Id : 4509387020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are the variables in the graph of powder diffraction pattern of a crystalline solid?

o

138 0SHTTE DSBS Sehra (15 S R 9T 076X (variables) E?
Options :

x-axis = 260: y-axis = intensity

x-298 0=20; y-e80=ed¢h
1. ¢



X-axis = intensity; y-axis = 20

x-5 0= ':f_%}L_c‘f)é: }'—i"—_‘-}i{} =20

2. %
x-axis = : y-axis = mtensity
x-@50=0: y-e50 = eI

3. % )
X-axis = intensity, y-axis=f

. x-05 0= é@}e&"ﬂ:; y-e980=4

Question Number : 141 Question Id : 4509387021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

100 mL of T_O Ca (NO3) and 200 mL of % KNOs solutions are mixed. What 1s the normality of
resulted solution with respect to NO; ?
100 mL % Ca (NO3), 200 mL % KNO3 | TP §0R0a)ch 8B (a0
0883 NO7 80T 0eh?

Options :

0.1N
1. %



0.066 N

Question Number : 142 Question Id : 4509387022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A solution was prepared by dissolving 0.1 mole of a non-volatile solute m 0.9 moles of water, What

is the relative lowering of vapour pressure of solution?

0.1 OO 2.8 ©2)80 [@DB0D 09 IO © ABS 600D 28 (THETd)
SOPOTDID. (T8 5, TS o) b D0eh?

Options :

0.05

Question Number : 143 Question Id : 4509387023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The standard free energy change ( A G°) for the following reaction (in kJ) at 25°C is
3Ca(s) + 2 Au¥(aq. IM) = 3Ca¥"(aq, IM) + 2Au(s)

(given:E;ug-;Mu =+150V, Ega“ma =—2.87V, 1 F=96500C mol™)

2500 55¢) 1806 G5B (D DT 4§ ST (AG°) (KT ©5)

3Ca(s) + 2 Au”"(aq. IM) — 3Ca”"(aq. IM) + 2Au(s)

(B Ey a4y = +1.50V, Eg 2 1o, = ~2.87V, 1 F=96500 C mol ™)

Options :

—2.53 x 10°
1.¢

+2.53 x 103
3

—2.53 % 10%

+2.53 x 10*

Question Number : 144 Question Id : 4509387024 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The rate constant of a first order reaction is 3.46 X107 ™ at 298K, What is the rate constant of
the reaction at 350 K if its activation energy is 50.1 kI mol™*? (R=8.314 T K™ mol ™)
(log 2=0.3010)
298 K o989 2.8 3030 $elm 08 383580 B 0080 3.46 X107 571, 333 O308), &B23ed
$8 50.1 kI mol™ @0ome) 350 K D& )50 B QU080 D07 (R=8.314 T K 'mol ™)
(log2=0.3010)

Options :



0.592s 1

0.692 71
2.

0.792 571
3. %

0892571
4, %

Question Number : 145 Question Id : 4509387025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The correct statement regarding chemisorption is

SERONS ©9HT N0 B0 DODOHOD OV a°5W;
Options :

It is a multilavered adsorption

2O 2.8 DIVTS ©HTA00

The process 1s reversible in nature

B2 D8O B 5ifeh O 527N0S GOENOE

The process is not specific in nature

& (DBAH D 52750 S DBR ES52BTIED



Enthalpy of adsorption is in the range of 80-240 kJ mol™?

e9AFTA0 DOTE) ) @I 80-240 kI mol ™2
4. &

Question Number : 146 Question Id : 4509387026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is incorrectly matched?

1BO® 53T DA HOTT 23¢d DAHDBTCED?
Options :

Multi molecular colloid — Sg

22570 98068 §CF0E - Sp

1. %
Macro molecular colloid - enzyme
2ol £ 50N E — OB

As283 sol — positively charged sol

Asa53 @‘5 — {f}ﬁ 36’8@5 53"6‘5

Starch sol — Iyophilic sol

D) O — TS O
4. %

Question Number : 147 Question Id : 4509387027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



_ 0 i _
Impure silver ore + CN  + H,O ——2» [X] +OH
[X] +Zn —— [Y]*™ + Ag (pure)

The co-ordination numbers of the metals in [X]. [Y] are respectively

©08%0 vebodd + CN + H,0 Lb [X] +OH

[X]- +Zn ———— [Y}z_ + Ag (D)

[X]. [Y] S S50 He0ed500 S0Een S

Options :
3 4
1. %
5 % 1 4
4 2
3. %
2 4
4,

Question Number : 148 Question Id : 4509387028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the reaction of sulphur with concentrated sulphuric acid. the oxidised product 1s X and reduced

product 1s Y. X and Y are respectively

J0)8, T Her)s08 edoe s NS, 88 iEln &8I0 X HOo

§ o586 &I 0 Y. X, Y €0 ST

Options :

1. %



503. SOz

SO2. SO9
2. ¥

SO, HaS
3. %

SOz HO
4, %

Question Number : 149 Question Id : 4509387029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following lanthanoids have [Xe] 4£* 5d! 65 configuration in their ground state?

(x=1-14)

5rad 508 er0dTH ©F I [Xe] 47 5d 652 Drrsdond O &ocha?

(x=1-14)

Options :

Pr. Tb. Yb

Ce:Ybh. Ln

Ce. Gd. Lu
3. o



Gd. Tb. Lu
4. %

Question Number : 150 Question Id : 4509387030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How many of the following ligands are stronger than H>O?

§¢7,Br~,C,0% ,CN~,en,NH;,CO,0H"

1BOO BPo& O H0 $0T DOTED A2

$%-,Br , {Zzi}i_, CN™,en, NH;,CO,OH™

Options :
1. % 3
3
2. ®
4
3.¢
4, % 6

Question Number : 151 Question Id : 4509387031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The common monomer for both Terylene and glyptal 1s

BBDE HB0SW BarS BoAE3S &oB SrSHnd

Options :

1.



\.I;‘/

HO/\/\DH
9 %

HO\/\

CeHs
3. %
/\/NHQ

4 % H5N

Question Number : 152 Question Id : 4509387032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following structure of proteins represents its constitution?

808 D 1°¢38 © 0690 T°Q HONETR) DN OE?
Options :

Secondary structure

2¥0¢8 do7ymo

1. %

Quaternary structure

5256038 Qoo
2. &



Primary structure

[ 22008 Qor80
3.¢

Tertiary structure

28018 doymo

Question Number : 153 Question Id : 4509387033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Carrot and curd are sources for the vitamins respectively

5e5E) 20850 DA & DEIDIED SBIITT eoed Y& Dren?

Options :

A B
1.¢

A. Bi
2. %

E. Pyridoxine
E, 28883)Q

E. Riboflavin
E. B D&
4. ®

Question Number : 154 Question Id : 4509387034 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List-I (Drug) List-IT (Use)
A. | Veronal I | Antihistamine
B. | Morphine II. | Hypnotic
C. | Seldane II. | Analgesic
IV. | Antidepressant

Correct answer 15

1808 TE3Q 2608

ORI (HO) Q-1 (&HAI0)
A | 3F>S L | 05roe3arddnd
B. | 5r8)Q IL | ek ¢35
C. OB I | O 225

IV. | 0503506
DO DedTTFI0
Options

A-TV, B-III. C-I

A-IV, B-L. C-II

A-II. B-III. C-I

A-II. B-IV. C-III



Question Number : 155 Question Id : 4509387035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The major products X and Y respectively from the following reactions are

. NaOEt Br ()Mg/dry cther
Y -——— - -
(major) (1)H,0

1806 B30 DBIT (DTS b Jo7) 00 X S80I Y e I

_ NaOEt Br ()Mg/ grd &5
Y «— - - X
Options:
0OC;H;

AN N

2. %

/\/DH /\
3. % |

P N Nooem,
4, % |

Question Number : 156 Question Id : 4509387036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An 1somer of CsHyp on reaction with Bry / light gave only one isomer CsHyiBr (X). Reaction of X
with AgNO; gave Y as major product. What 15 Y?
CsHp G0, 28 RrC9550 Bry / 508 W05 CsHuBr (X) &3 28 2.8 /Py

3000, ANOS X 80 DEES Y DGR 653090 8)B0B. Y 67

Options :

(

),N
ONO

ONO
J\/ -

1. %

2. %

. #\/
4.
Question Number : 157 Question Id : 4509387037 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are the major products X and Y respectively in the following reactions?
1808 DB DTS €55 102180 X s8N Y € DM d?
(CH3)3CONa + CH3CH:Br — X
(CH3)3CBr + CH3CH2ONa — Y

Options :

CH>=CH». (CH3;COCH-CHz3

1. %
- (CH3):COCH2CH3. (CH3p3COCH20CHs3
CH>=CHa, (CH3)2C = CH2
3,
. (CH3)3COCH2CH3., (CHz)C =CH:z
4, %

Question Number : 158 Question Id : 4509387038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following reagents with the products obtained when they reacted with a ketone,

List-I List-IT

A | C¢HsNHNH, | I | Schiff base

B. | NH,0H II. | Hydrazone

C. | CsHsNH; IL | Oxime

IV. | Phenyl hydrazone

Correct answer is

808 550D, @92 S8R 08 1583 2OV BB GSITLOS 2dIEH08

-1 oI
3

A | GHNHNHy | I | 95 B0

B.[NHOH | IL |3y’

C.|CeHsNHy | TIL | e85 a0

IV. | 9RO TGS

DB B2

Options :

A-TV, B-III. C-I
1.¢

A-TV. B-IL. C-I
2. %

A-ILL B-III. C-IV
3. %

A-IL B-TV. C-IIT
4. ®

Question Number : 159 Question Id : 4509387039 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are X and Y respectively in the following reactions?

1808 BHEOS X XDOA5N Y €0 S5BDM™ D2

COOH
©/ CHO & 4 cocH, - —
e A )or progudc
O 203K Y LoorP

(P gréd 1070)
Options :
(1) SOCly, (if) Hy/Ni: @c GH— C—@
1. %
(i) SOCL, (i) HyNi; @— H_(:H—c@
2. % 2
(i) C;H;OHH, (i) DiBAL -H (iii) H,0 ; QCH:CH—C
I
0
3. ¥
(i) C,H;OH/H". (1) DiBAL -H (iii) H,0 QC —CH=C —@
CH3
4, %

Question Number : 160 Question Id : 4509387040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange the following in decreasing order of their basicity
1808 73R €3 06 50 71 1500 & @808
NH, NH,

HC
H,CO 0,

Options:



